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We can new come back to questions about sums

µof random variables - in the context of their joint
distribution .

Let X
,
y be two ( let's say discrete ) random variables
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A binomial is a sum of Bernoulli's (indicator r . v. ' s ) .

Lots of problems can be solved when we can express desired
events in terms of sums of indicators .

Eg
. Suppose we put 200 balls randomly into too boxes .

What

is the expected number of empty boxes ?
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Your favorite cereal I chocolate frosted sugar bombs) comes with
a Pokemon figurine . There are n 210 to collect . What is
the expected number of boxes you need to buy to collect them all ?
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We've seen that independent ru 's are uncorrelated .

The converse de es net held
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Eg
. Coupon Collector ( Revisited)

Let Tn be the number of cereal boxes it takes to collect
n distinct toys .
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